ALWAYS clea the calculator first before each calcula-
tion by pulling learing bar all the way out and then
pushing it back. fter the calculator is
in all the answ ndows should he *“0",
sign appear i insert pen in e row above it
‘bring ocut “0"”. |

pen toward th 5 wi N and 1
move pen awa om ‘the- window AND AROUND THE
BEND UNTIL : .

TO SET the first figure in the calcula.
ning of each caleulation after the ecalculator has been
cleared, use the ADDITION SIDE (upper a]f.ﬁ and insert
the pen in the hcms opposite the apprbpr1£ umbers and
move toward the answer windows. ff

EXAMPLE — To set £23. 15. 6d. ! 3

Insert pen in hole opposite “2" in s‘gipqnd row of 'L

column and move toward window to as far as it will go,

“2" will appear in the window. Then do likewise with
the “3™ in *firsti.row of ‘£ column. Proceed similarly
with “1'" in left row of ‘s’ column anc “5" in right row,
and “6" in the ‘e column, all moving toward the window.
The complete ﬁgure £23. 15. 6d4. will now appear in the
answer windows,

* When referring to ‘first row! of £! cu]umn,, always coum

from right to 1;eft

follows:
€20 4 £3 4 jOs—[- 55 -t 6d.

RULE 2 -W‘j;en arrows appear in the wmdows durmg

he corresponding row and  move “advay

f m the window and arouml the bend unm

itl_s‘tops at the terminal.
TO ADD'-E’gsmple: £26. 18. 8d. +

b o
i

R 24.

i’
it

Actually, ygﬁ h'we just done a mult’iple addition as

(See Overleaf)

red the figure'
uld any arrow"

or a_t the begin- .

aqecaleulation, simply insert the pen A, RES



First clear calculator
on caleculator. Then
side, insert pen in
first row of ‘L’ colunm
‘now in the red zone,
the answer window
until it stops at the
pen in the hole opposite “5' in right row of
the ‘s’ column. As this hole is also in the
red zone, move pen away from Lhe answer
win-low and around the bend. Finally, insert
pen in the hole opposite “2" in the ‘d’ coluinn
and move toward the window. The answer
£35. 23. 10d. will appear in the windows.
Since when the figure appearing in the ‘s’
column is up to 20, it should be converted into
£1 by means of inserting pen in the red hole
“0" in left row of ‘s’ column and moving
away from answer window and around the
bend. Now the actual answer appearing in
the indows is £36. 3. 10d.

using the addition
opposite ‘9" in Lhe
Since this hole is
ve pen away from
around the bend
minal. Next insert

TO SUBTRACT First clear caleculator and set the first

figure using the addition side (upper half).
Then use the subtraction side (lower half)
for the rest of the caleulation.

Example: £3. 15. 6d. — £1. 18, 4d.

After clearing caleulator and setting
£3. 15. 6d., insert pen in hole “1" in first
row of ‘£' column on subtraction side (lower
half) and move upwards toward window,
Next insert pen in hole "1' in left side, upper
row of ‘s’ eolumn and move upwards toward
window. Again, insert pen in the red hole
“8'" in the right row of ‘s’ ¢olumn, ‘and
move downwards and around the bend. (At
this slage, an arrow is shown in the answer
window, and as a rule, an arrow must be
disposed of in any calculation, and to do this,
{nsert pen in the red hole opposite 0" in the
lower left row of the ‘s’ column and move
around the bend. This will set off the red
arrow and straighten the substraction in the
‘g’ column.) Finally, insert pen in the hole
“4" in the ‘d’ column and move toward
window. Then the answer £1. 17. 2d. will
appear in the windows.



